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a) SA039, Cell line, WT, # cells = 1963
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b) SA906a, Cell line, TP53−/− 95.22, # cells = 3706
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c) SA906b, Cell line, TP53−/− 95.22, # cells = 5716
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d) SA1188, Cell line, BRCA2+/− TP53−/− 116.66, # cells = 1873
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e) SA1056, Cell line, BRCA2−/− TP53−/− 116.126, # cells = 496
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f) SA1055, Cell line, BRCA2−/− TP53−/− 112.109, # cells = 391
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g) SA1054, Cell line, BRCA1−/− TP53−/− 83.86, # cells = 382

Copy Number
0
1
2

3
4
5

6
7
8

9
10
11

HSCN State
A−Hom
B−Hom

A−Gained
B−Gained

Balanced
Gain
Loss



0.5
1

0
0.5

1

1 2 3 4 5 6 7 8 9 10 11 13 15 17 20 X

C
lu

st
er

C

B

A

0.5
1

0
0.5

1

1 2 3 4 5 6 7 8 9 10 11 13 15 17 20 X

h) SA1292, Cell line, BRCA1+/− TP53−/− 116.66, # cells = 377

Copy Number
0
1
2

3
4
5

6
7
8

9
10
11

HSCN State
A−Hom
B−Hom

A−Gained
B−Gained

Balanced
Gain
Loss



0.5
1

0
0.5

1

1 2 3 4 5 6 7 8 9 10 11 13 15 17 20 X

C
lu

st
er

E

D

C

B

A

0.5
1

0
0.5

1

1 2 3 4 5 6 7 8 9 10 11 13 15 17 20 X

i) SA1091, HGSOC, FBI, # cells = 506
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j) SA1047, HGSOC, TD, # cells = 347
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k) SA1093, HGSOC, TD, # cells = 346
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l) SA1049, HGSOC, FBI, # cells = 1283
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m) SA1096, HGSOC, FBI, # cells = 802

Copy Number
0
1
2

3
4
5

6
7
8

9
10
11

HSCN State
A−Hom
B−Hom

A−Gained
B−Gained

Balanced
Gain
Loss



0.5
1

0
0.5

1

1 2 3 4 5 6 7 8 9 10 11 13 15 17 20 X

C
lu

st
er

H

G
F

E

D

A
B
C

0.5
1

0
0.5

1

1 2 3 4 5 6 7 8 9 10 11 13 15 17 20 X

n) SA1162, HGSOC, FBI, # cells = 254
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o) SA1050, HGSOC, HRD−Dup, # cells = 990
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p) SA1051, HGSOC, HRD−Dup, # cells = 892
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q) SA1052, HGSOC, HRD−Dup, # cells = 556

Copy Number
0
1
2

3
4
5

6
7
8

9
10
11

HSCN State
A−Hom
B−Hom

A−Gained
B−Gained

Balanced
Gain
Loss



0.5
1

0
0.5

1

1 2 3 4 5 6 7 8 9 10 11 13 15 17 20 X

C
lu

st
er

B

F

G
E

D

CA

0.5
1

0
0.5

1

1 2 3 4 5 6 7 8 9 10 11 13 15 17 20 X

r) SA1053, HGSOC, HRD−Dup, # cells = 825
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s) SA1180, HGSOC, FBI, # cells = 774
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t) SA1181, HGSOC, HRD−Dup, # cells = 296
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u) SA1182, HGSOC, FBI, # cells = 214
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v) SA1184, HGSOC, HRD−Dup, # cells = 621
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w) SA530, TNBC, FBI, # cells = 324
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x) SA604, TNBC, FBI, # cells = 2139
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y) SA605, TNBC, TD, # cells = 65
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z) SA609, TNBC, FBI, # cells = 6033
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aa) SA610, TNBC, FBI, # cells = 268
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ab) SA501, TNBC, HRD−Dup, # cells = 2473
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ac) SA535, TNBC, HRD−Dup, # cells = 1801
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